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ZRE [ K#ERLH EBLLIFRFN 7K 5 EEFLERED 12 0.095 ( 0.009 ) ~ 0.29
ESRE |#Th T XM #ED EERLEERFD 12 0.040 ( 0.016 ) ~ 0.094
EILE  |B%mhm WiIE ElE 4R ED 12 0.090 (< 0.020 ) ~ 0.22
fif] L2 B ed=1) B E A RE D 12 0.050 0.020 ~ 0.081
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WOg  [&m FEHBRETE ElE 4R ED 12 0.042 (_< 0.008 ) ~ 0.23
wog =2EH RER/DNERE [E X F 4 R E D 12 0.030 (< 0008 ) ~ 0.072
BEARE |FEMAEEE  |HEIL/NER EEF L RED 6 0.012 (< _0.004 ) ~ 0.027
AoE AHm =ENERBER B 7E F 4R E D 12 0.092 ( 0.005 ) ~ 0.26
=IFE  |EET ERERER ElE 4R ED 12 0.010 ( < 0.003 ) ~ 0.040
HiFE A [ BB EE IS EEFRLERERFD 12 0.016 ( < 0.003 ) ~ 0.034
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EHRE |[E&T BANMNERB A 12 0.036 0.0082 0.065
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RE#  IERER REEREFRH BE 12 0.17 0.062 ) 0.47
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#E/IE BETFEX |FERERXRERE Al 12 0.061 0.025 ) 0.16
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BIE  |Fahmm HAhAER Rl 6 0.008 ( 0.008 ) 0.025
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ZHE 2Em SES Bl 12 0.0081 0.0014 ) 0.03
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iR E ARERTh WERF E 6 0.032 ( 0.016 ) 0.10
HpfEE Paakicoqut] HIER e 12 0.057 ( 0.003 ) 0.14
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